

County of Hernando

# Procurement Department

Carla Rossiter-Smith, Chief Procurement Officer 15470 Flight Path Drive, Brooksville, FL 34604

## **REVISED EVALUATION TABULATION**

ITB No. 25-TF00952/JC <u>Disaster Debris Monitoring</u> RESPONSE DEADLINE: April 21, 2025 at 10:00 am Report Generated: Tuesday, May 6, 2025

## SELECTED VENDOR TOTALS

Vendor	Total
Thompson Consulting Services, LLC	\$3,484,217.00
Tetra Tech, Inc.	\$3,581,100.00

### DISASTER DEBRIS MONITORING PRICING TABLE

Disaster Debris Monitoring Pricing Table					Tetra	Tech, Inc.	Thompson Consulting Services, LLC	
Selected	Line Item	Description	Estimated Quantities	Unit of Measure	Unit Cost	Total	Unit Cost	Total
PART I - PC	DSITION C	OSTS AT ESTIMATED HOURS						
Х	1	Project Office/Principal	360	Hourly Rate	\$95.00	\$34,200.00	\$165.00	\$59 <i>,</i> 400.00
Х	2	Project Manager	700	Hourly Rate	\$75.00	\$52,500.00	\$65.00	\$45,500.00
Х	3	Operations Manager	1900	Hourly Rate	\$59.00	\$112,100.00	\$47.00	\$89,300.00

		Disaster Debris Monitoring Pricing Table	g Pricing Table			a Tech, Inc.	Thompson Consulting Services, LLC		
Selected	Line Item	Description	Estimated Quantities	Unit of Measure	Unit Cost	Total	Unit Cost	Total	
Х	4	FEMA Reimbursement Manager	500	Hourly Rate	\$95.00	\$47,500.00	\$125.00	\$62,500.00	
Х	5	Field Supervisor	8000	Hourly Rate	\$45.00	\$360,000.00	\$45.00	\$360,000.00	
Х	6	Field Monitor	43000	Hourly Rate	\$37.50	\$1,612,500.00	\$36.00	\$1,548,000.00	
Х	7	TDMS and Drop-Off Site Monitors	22000	Hourly Rate	\$37.50	\$825,000.00	\$37.00	\$814,000.00	
Х	8	TDMS/Drop-Off Site Security	7560	Hourly Rate	\$36.50	\$275,940.00	\$30.00	\$226,800.00	
Х	9	Data Manager	700	Hourly Rate	\$55.00	\$38,500.00	\$65.00	\$45,500.00	
Х	10	Data Support Personnel	300	Hourly Rate	\$40.00	\$12,000.00	\$49.00	\$14,700.00	
Х	11	GIS Specialist	200	Hourly Rate	\$50.00	\$10,000.00	\$69.00	\$13,800.00	
Х	12	Operations Specialist	700	Hourly Rate	\$64.00	\$44,800.00	\$55.00	\$38,500.00	
Х	13	Engineer/Scientist/Professional	400	Hourly Rate	\$110.00	\$44,000.00	\$150.00	\$60,000.00	

Disaster Debris Monitoring Pricing Table					Tetra	Tech, Inc.	Thompson Consulting Services, LLC	
Selected	Line Item	Description	Estimated Quantities	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	14	Environmental Consultant	700	Hourly Rate	\$55.00	\$38,500.00	\$55.00	\$38,500.00
Х	15	Environmental Field Technician	700	Hourly Rate	\$40.00	\$28,000.00	\$45.00	\$31,500.00
Х	16	Administrative Support	1200	Hourly Rate	\$36.00	\$43,200.00	\$18.50	\$22,200.00
Х	17	Data Entry Clerk (Paper Tickets as Back-Up if Needed)	200	Hourly Rate	\$0.00	\$0.00	\$35.00	\$7,000.00
PART II - AI	ERIAL PH	OTOGRAPHS						
Х	18	Aerial Photo Package (5 Photos per Flight, different locations)	2	Each	\$320.00	\$640.00	\$3,500.00	\$7,000.00
Х	19	Photograph Copies (Duplicate of Original Approved Photo)	6	Each	\$20.00	\$120.00	\$1.00	\$6.00
Х	20	Additional Photographs (per photo, same flight, same location, different view)	5	Each	\$20.00	\$100.00	\$1.00	\$5.00
Х	21	Video	1	Each	\$250.00	\$250.00	\$1.00	\$1.00
Х	22	Additional location (one photo, same flight, different location)	5	Each	\$250.00	\$1,250.00	\$1.00	\$5.00
		BASIS OF AWARD - TOTAL		I		\$3,581,100.00		\$3,484,217.00

### ADDITIONAL SERVICES

	ADDITIONAL SERVICES				Tetra T	Tetra Tech, Inc.		Thompson Consulting Services, LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	
Х	23	Emergency Potable Water-Pallet to include 48 cases of 16.9 oz bottled water, 40 bottles per case	1	Pallet	\$2,000.00	\$2,000.00	No Bid	No Bid	
Х	24	Emergency Bagged Ice-Pallet to include a quantity of 306 bags - 7# bags of ice	1	Pallet	\$5,000.00	\$5,000.00	No Bid	No Bid	
Х	25	Temporary Bathrooms-Single Portable Toilet	1	Day	\$215.00	\$215.00	No Bid	No Bid	
Х	26	Temporary Bathrooms-Single Portable Toilet	1	Week	\$985.00	\$985.00	No Bid	No Bid	
Х	27	Temporary Bathrooms-Single Portable Toilet-ADA Accessible	1	Day	\$215.00	\$215.00	No Bid	No Bid	
Х	28	Temporary Bathrooms-Single Portable Toilet-ADA Accessible	1	Week	\$1,430.00	\$1,430.00	No Bid	No Bid	
Х	29	Temporary Shower Facilities-Three (3) Stall Private Shower Trailer	1	Day	\$5,230.00	\$5,230.00	No Bid	No Bid	
Х	30	Temporary Shower Facilities-Three (3) Stall Private Shower Trailer	1	Week	\$18,390.00	\$18,390.00	No Bid	No Bid	
Х	31	Temporary Shower Facilities-Eight (8) Stall Private Shower Trailer	1	Day	\$3,750.00	\$3,750.00	No Bid	No Bid	
Х	32	Temporary Shower Facilities-Eight (8) Stall Private Shower Trailer	1	Week	\$29,340.00	\$29,340.00	No Bid	No Bid	
Х	33	Temporary Laundry Facilities-Twenty Foot (20') Trailer	1	Day	\$7,450.00	\$7,450.00	No Bid	No Bid	
Х	34	Temporary Laundry Facilities-Twenty Foot (20') Trailer	1	Week	\$32,200.00	\$32,200.00	No Bid	No Bid	
Х	35	Temporary Laundry Facilities-Thirty-Two Foot (32') Trailer	1	Day	\$5,250.00	\$5,250.00	No Bid	No Bid	

EVALUATION TABULATION Invitation to Bid - Disaster Debris Monitoring Page 4

	ADDITIONAL SERVICES					ech, Inc.	Thompson Consulting Services, LLC	
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total
Х	36	Temporary Laundry Facilities-Thirty-Two Foot (32') Trailer	1	Week	\$34,340.00	\$34,340.00	No Bid	No Bid
Х	37	Temporary Satellite Communications	1	Day	\$1,100.00	\$1,100.00	No Bid	No Bid
Х	38	Temporary Satellite Communications	1	Week	\$2,500.00	\$2,500.00	No Bid	No Bid
Х	45	Emergency Management Planning and Training	1	Hour	\$145.00	\$145.00	\$129.25	\$129.25
Х	46	Public Assistance Consulting Services	1	Hour	\$135.00	\$135.00	\$146.65	\$146.65
Х	47	Building Code/Floodplain Management Enforcement	1	Hour	\$130.00	\$130.00	\$149.25	\$149.25
Total	· ·		1	1		\$149,805.00		\$425.15

 Cathy Telft
 Procurement

 Manager
 Manager

 For: Carla Rossiter-Smith, MSM PMP GPC

Chief Procurement Officer